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Answer any FIVE questions.
All questions carry equal marks.
Assume missing data (if any).

1. a) Inthecircuitof Fig. 1,determine the current through the 5Q resistor using Thevenin’s theorem. 07
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b) Find the current in the 52 resistor for the circuit shown in Fig. 2. Use Norton’s theorem. 07
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2 a) Find“V’inthecircuit of Fig. 3. Also obtain the numerical value of the dependent source. 07
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by [ sine Nodal method. find the current through rjin["ig.u‘} 07
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3 @ Prove thet the power transter froms a de source network to a resistive network is maximam when the internal
resistancy of the de source network is equal to the load resistance. 07

b) In the network shown in Fig 5.V - 10V V- VOV~ 60V Also ] - 24T 2A and [, 4A. Check the
vahdity of {cllcgen s theorem. 07
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4 ) State and explain Superposition Theorem, 07
bi FindV. and V, inkig. 6 07
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.5 a) Express/ - puramcters inlerms of Y - parameters. 0
by Fxplain and derise ABCH parameters of a two port network, 07
6 a) Find the open cire ar parameter of the two port network shown in I'ig. 7 ("
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b) From the given Z - parameters, determine ABCD parameters.

7 a) Stateand explain initial and final value theorem in Laplace transformation.

b) The current through a circuit element is

2

8 a) Explain Mesh and Nodal analysis for linear time invariant networks.

b) State and explain reciprocity theorem.
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( 4j 7 Find the current in t domain ass — 0and s —> 0.
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